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Candidates are required to give their answers in their own
words as far as practicable.
The figures in the margin indicate full marks.

Answer any four questions : 15%4=60
1. (a) Explain the value added method with a suitable example.
(b)  Mention the problems associated with national income measurement.

(¢)  Give reasons to explain whether the following are considered in national income
measurement :

(1) Service of a housewife, (i1) Production by farmers for self consumption and
(i11) Alms given to a beggar. 4+5+6

2. (a)  Establish the equilibrium under simple Keynesian model.

(b)  Mention three properties of a Keynesian consumption function.




(c)  If autonomous investment increases by 100 units and MPC is 0.80, then what

is the increase in total consumption? 8+3+4
(a) Derive IS curve and explain its shape.
(b)  When does a LM curve shift rightward?

(¢)  Show that if government investment increases, then the increase in total investment

in an economy is less. 8+3+4
(a)  What are the theoretical reasons behind inflation?
(b)  What are the effects of inflation?
(c)  Full employment is essential for inflation—Explain. 6+5+4
(a)  What is natural rate of unemployment?
(b)  Explain the short run trade-off shown in a Phillip’s curve.
(c)  Show that such trade-off is not possible under rational expectation. 3+8+4
(a)  Distinguish between fixed and floating exchange rates.
(b)  Explain how foreign exchange rate is determined.

(c)  What is the impact on floating exchange rate if there is an increase in imports?
4+8+3

With the help of Mundell-Fleming model, show that while expansionary monetary policy
fails to affect national income and output under fixed exchange rate system, fiscal policy
is highly effective. Also explain in this regard the importance of perfect capital mobility.

12+3

(a) What is inventory investment and how is it determined?
(b)  What is liquidity trap?

(c)  Write a brief note on money supply. 5+3+7
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